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Year 6 Home Learning Set: 15.11.19 Due: 20.11.19

5a. Circle the modal verbs below. O_ O.U'EEtiCln
being should take 1 1510 x14 =[]
o 2 | 526 x 22 =[]
ma cerrain
y 3 [274x89=0
P 4 |473x 11 =[]
&a. Underline the modal verbs in the 5' ']2 > ?30 = D
sentence below.
Please can | open a window
as it's hot in here and | may
? .
pass ol Q Question
\ 1 |405=5=[]
T
2 |bbh2+-6=1L[]
7a. Choose an appropriate modal verb
from the word bank to complete the 3 232 = 8 — |:|
sentence below.
_ 4 [186=2=1[]
| say sorry if | were
you, then you feel 5 |828+9=L]
much better.
can will would | could
.?-{xl. : Spellings:
rhythm
8a. Change the statement below to a forty
question. Use the same modal verb. curiosity
understandably
We should go to the beach S“'tafb"; "
tomorrow if it doesn’t rain. comtortably
miserably
horribly
terribly
incredibly
possibly
responsibly
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'f-". Spellings:
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8a. Change the statement below to a rougher
question. Use the same modal verb. youngest
country
We should go to the beach a“?mat'ﬁ
tomorrow if it doesn’t rain. autograp
biography
trouble
autocue
touch




